
The Spring Formula 
 

 
 
Direct costs = BCSO x % of overnights 
% of overnights = R 
S = % of income 
Transfer payment = (S x BCSO) – (BCSO x R) = (.6 x 738) – 738R = 442.8 – 738R 
 
 
Factual Assumptions  
Child is 10 
Assume Dad = “NCP” because his income is higher 
Mom net income $2000  
Dad net income $3000 
Dad = 60% of income 
Mom = 40% of income 
BCSO = 443 Dad, 295 Mom = 738 total 
 
 
Child 100% with Mom 
442.8 – 738(0) = 442.9 - 0 = $443.00 
 
Child 90% with Mom  
442.8 – 738(.1)  = 442.8 – 73.80 = $369.00 
 
Child 80% with Mom  
442.8 – 738(.2) = 442.8 – 147.6 = $295.20 
 
Child 70% with Mom  
442.8 – 738(.3)  = 442.8 – 221.4 = $221.40 
 
Child 60% with Mom  
442.8 – 738(.4)  = 442.8 – 295.20 = $147.60 
 
Child 50% with Mom  
442.8 – 738(.5)  = 442.8 – 369 = $73.80 


